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Section A

1. Which of the following changes are exothermic in

nature?

A. Dissolution of ammonium chloride in water

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ok0wLE8DVdd7


B. Decomposition of silver bromide

C. Decomposition of ferrous sulphate

D. Dilution of sulphuric acid

Answer: D

View Text Solution

2. A dilute ferrous sulphate solution was added

gradually to the beaker containing acidified

potassium permaganate solution. The light purple

colour of the solution fades and finally disappears.

Select the correct statement.

https://dl.doubtnut.com/l/_ok0wLE8DVdd7
https://dl.doubtnut.com/l/_HqZdptOicv4p


A. Colour disappears due to dillution oas no

reaction in involved.

B.  is oxidising agent and oxidises 

C.  decomposes in presence of 

as  is less stable

D.  acts as oxidising agent and oxidises 

Answer: B

View Text Solution

KMnO4

FeSO4

KMnO4 FeSO4

KMnO4

FeSO4

KMnO4

https://dl.doubtnut.com/l/_HqZdptOicv4p
https://dl.doubtnut.com/l/_8H4Gby0ika8J


3. Balance the following chemical equation: 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Pb(NO3)2 ( s )

Heat
−−→ PbO ( s ) + NO2 ( g ) + O2 ( g )

Pb(NO3)2 ( s ) → PbO ( s ) + 2NO2 ( g ) + O2 ( g )

1

2

Pb(NO3)2 → 2PBo ( s ) + NO2 ( g ) + 2O2 ( g )

2Pb(NO3)2 → 5PbO ( s ) + 3NO2 ( g ) + 5O2 ( g )

Pb(NO3)2 → 2PbO ( s ) + NO2 ( g ) + O2 ( g )

https://dl.doubtnut.com/l/_8H4Gby0ika8J
https://dl.doubtnut.com/l/_yjbG6YqxVnZB


4. Why does not a wall immediately acquire a white

colour when a coating of slaked lime is applied on it?

A. slaked lime reacts with oxygen to form calcium

carbonate, which imparts white colour

B. slaked lime reacts with carbon dioxide to form

calcium hydroxide which imparts white colour

C. slaked lime reacts with carbon dioxide to form

calcium carbonate which imparts white colour

D. slaked lime turns white on solidification

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_yjbG6YqxVnZB


Watch Video Solution

5. The pH value of which of the salts will be greater

than 7? 

I. Sodium carbonate 

II. Sodium chloride 

III. Sodium sulphate 

IV. Sodium Hydrogen Carbonate

A. Both I and II

B. Both II and IV

C. Both I and III

D. Both I and IV

https://dl.doubtnut.com/l/_yjbG6YqxVnZB
https://dl.doubtnut.com/l/_g9jQGTDizAdK


Answer: D

Watch Video Solution

6. The process of dilution of acid or base with water

will result in:

A. No change in the concentration of ions

 per unit volume

B. Decrease in the concentration of ions

 per unit volume

C. Increase in the concentration of ions

) Per unit volume

(H3O + /OH − )

(H3O + /OH − )

(H3O + /OH −

https://dl.doubtnut.com/l/_g9jQGTDizAdK
https://dl.doubtnut.com/l/_m0cI7mhUeXeV


D. Decrease in the concentrationfo  ions

but increase in concentration of  ions

per unit volume

Answer: b

Watch Video Solution

H3O +

OH −

7. Solution of a substance X changes its colour to

pink when Phenolphthalein is added to it. Solution of

another substance Y change its colour to yellow on

adding methyl orange as shown in the figure below: 

https://dl.doubtnut.com/l/_m0cI7mhUeXeV
https://dl.doubtnut.com/l/_ILM8iX1SzTBg


 


Identify the correct nature of solutions of X and Y:

A. Both X and Y are basic

B. X is basic and Y is acidic

C. X is acidic and Y is basic

D. Both X and Y are acidic

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ILM8iX1SzTBg


8. Which of the following is a/are strong acids

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HNO3, HCl, CH3COOH, H2CO3

HNO3, H2CO3

HNO3, HCl

HCl, CH3COOH

H2CO3, CH3COOH

9. Why is sodium metal, never left open in air?

https://dl.doubtnut.com/l/_FQBXukcUGv7G
https://dl.doubtnut.com/l/_83D0iHqPrgTu


A. It melts at room temperature

B. It reacts with moisture present in air violently

C. It reacts with oxygen present in air violently

D. Both b and c

Answer: C

Watch Video Solution

10. Study the given table: 

 


https://dl.doubtnut.com/l/_83D0iHqPrgTu
https://dl.doubtnut.com/l/_RaNqfyex0SSa


Section B

X and Y combine to form a compound of formula:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

X3Y2

X2Y3

XY

X3Y

https://dl.doubtnut.com/l/_RaNqfyex0SSa


1. Select the correct equation (s) which represent

double displacement reaction? 

I. 


II. 


III. 


IV. 

A. I and IV

B. II only

C. I and II

D. III and IV

Answer: B

Pb + CuCl2 → PbCl2 + Cu

Na2SO4 + BaCl2 → BaSO4 + 2NaCl

C + O2 → CO2

CH4 + 2O2 → CO2 + 2H2O

https://dl.doubtnut.com/l/_fDxxNELuyuVf


Watch Video Solution

2. Study the table below which shows different

colour produced by universal indicator in A, B, C and

D 

 


Which of them is strongly basic?

A. P

B. Q

C. R

https://dl.doubtnut.com/l/_fDxxNELuyuVf
https://dl.doubtnut.com/l/_Z70Gp4mrvuD0


D. S

Answer: D

Watch Video Solution

3. An experiment was performed to test the electrical

conductivity of some substances as shown in figure

below: 

https://dl.doubtnut.com/l/_Z70Gp4mrvuD0
https://dl.doubtnut.com/l/_73d6MZudjksI


 


The soluton of which of the following will not

conduct electricity?

A. Sodium chloride

B. Magnesium Iodide

C. Alcohol

D. Calcium oxide

Answer: C

https://dl.doubtnut.com/l/_73d6MZudjksI


Watch Video Solution

4. Following metals are taken and each of them was

tested for its reaction with cold water, hot water and

steam: Zn,Al,Cu,Fe ,Mg,Na,K 

Select the correct observations: 

I. Na and K react violently with cold water. 

II. Mg does not react with cold water but reacts with

hat water.

III.Al, Zn and Cu react with steam 

IV.Fe does not react with water or steam at all

A. Both I and II

https://dl.doubtnut.com/l/_73d6MZudjksI
https://dl.doubtnut.com/l/_Zk9KhySS5eAx


B. Both II and IIi

C. Both I and Iv

D. Both II and IV

Answer: A

Watch Video Solution

5. What happens when dilute hydrochloric acid is

added to iron filling:

A. Hydrogen gas and iron chloride are formed

B. Chlorine gas and hydrogen gas evolved

https://dl.doubtnut.com/l/_Zk9KhySS5eAx
https://dl.doubtnut.com/l/_HS96bBqnsg0x


C. Iron salt and water produced

D. No reaction takes place

Answer: A

Watch Video Solution

6. Assertion (A): When hydrogen and chlorine are

placed in sunlight, hydrogen chloride is formed 

Reason(R):It is an example of combustion reaction.

A. Both A and R are true, and R is the correct

explanation of A

https://dl.doubtnut.com/l/_HS96bBqnsg0x
https://dl.doubtnut.com/l/_jRjyGvcQXMDU


B. Both A and R are true, but R is not the correct

explanation of A

C. A is true but R is false.

D. A is false but R is true.

Answer: C

Watch Video Solution

7. Assertion (A): Most reactive metals reacts with

dilute acids to liberate hydrogen gas. 

Reason(R): Very few reactive metals react with bases

to liberates hydrogen gas.

https://dl.doubtnut.com/l/_jRjyGvcQXMDU
https://dl.doubtnut.com/l/_hrGIYJwMpx0D


A. Both A and R are true, and R is the correct

explanation of A

B. Both A and R are true, but R is not the correct

explanation of A

C. A is true but R is false.

D. A is false but R is true.

Answer: B

Watch Video Solution

8. Study the table below and select the row that has

the correct information: 

https://dl.doubtnut.com/l/_hrGIYJwMpx0D
https://dl.doubtnut.com/l/_9voIbp2v6THS


Watch Video Solution

9. A compound Z is manufactured by the action of a

gas X, which is a product of Chlor alkali process, on a

substance Y in a plant as shown: 

https://dl.doubtnut.com/l/_9voIbp2v6THS
https://dl.doubtnut.com/l/_qutqz2YHRng0





Z is used as an oxidising agent in many chemical

inducties and also used for disinfecting drinking

water. 

https://dl.doubtnut.com/l/_qutqz2YHRng0


Section C

Select the row containing the correct identification

of X,Y and Z from the table below: 

View Text Solution

https://dl.doubtnut.com/l/_qutqz2YHRng0


1. Case 1: When an element composed of atoms that

readily lose electrons (a metal) reacts with an

element composed of atoms that readily gain

electrons (a nonmetal), a transfer of electrons

usually occurs, producing ions. The compound

formed by this transfer is stabilized by the

electrostatic attraction (ionic bonds) between the

ions of opposite charge present in the compound.

For example, when each sodium atom in a sample of

sodium metal (group 1) gives up one electron to

form a sodium cation, Na+, and each chlorine atom

in a sample of chlorine gas (group 17) accepts one

electron to form a chloride anion,  theCl−

https://dl.doubtnut.com/l/_ZtRPWU7vSjrc


resultingk compound, NaCl, is composed of sodium

ions and chloride ions in the ratio of one  ion

for each  ion. 


 


Similarly each calcium atom (group 2) can give up

two electrons and transfer one to each of two

chlorine atoms to form  which is composed of 

 and  ions in the ratio of one  ion

to to  ions. A compound that contains ions and

is held togethr by ionic bonds is called an ionic

Na +

Cl−

CaCl2

Ca2 + Cl − Ca2 +

Cl−

https://dl.doubtnut.com/l/_ZtRPWU7vSjrc


compound. The periodic table can help us recognize

many of the compounds that are ionic. Ionic

compounds are solids that typically melt at high

temperature and boil at even higher temperatures.

The melting and boilign points of some common

compounds is given below. 

Melting and boiling points of common compounds 

 


Which of the compounds given in table above are

ionic compounds? 

I. Magnesium oxide 

II. Sodium chloride 

https://dl.doubtnut.com/l/_ZtRPWU7vSjrc


III. Ammonia 

IV. Cesium bromida

A. Both I and II

B. I,II and III

C. I,II and IV

D. Both V and III

Answer: C

View Text Solution

2. Case 1: When an element composed of atoms that

readily lose electrons (a metal) reacts with an

https://dl.doubtnut.com/l/_ZtRPWU7vSjrc
https://dl.doubtnut.com/l/_sKDpFPzp1tvu


element composed of atoms that readily gain

electrons (a nonmetal), a transfer of electrons

usually occurs, producing ions. The compound

formed by this transfer is stabilized by the

electrostatic attraction (ionic bonds) between the

ions of opposite charge present in the compound.

For example, when each sodium atom in a sample of

sodium metal (group 1) gives up one electron to

form a sodium cation, Na+, and each chlorine atom

in a sample of chlorine gas (group 17) accepts one

electron to form a chloride anion,  the

resultingk compound, NaCl, is composed of sodium

ions and chloride ions in the ratio of one  ion

for each  ion. 


Cl−

Na +

Cl−

https://dl.doubtnut.com/l/_sKDpFPzp1tvu


 


Similarly each calcium atom (group 2) can give up

two electrons and transfer one to each of two

chlorine atoms to form  which is composed of 

 and  ions in the ratio of one  ion

to to  ions. A compound that contains ions and

is held togethr by ionic bonds is called an ionic

compound. The periodic table can help us recognize

many of the compounds that are ionic. Ionic

CaCl2

Ca2 + Cl − Ca2 +

Cl−

https://dl.doubtnut.com/l/_sKDpFPzp1tvu


compounds are solids that typically melt at high

temperature and boil at even higher temperatures.

The melting and boilign points of some common

compounds is given below. 

Melting and boiling points of common compounds 

 


The atomic number of four elements P,Q,R,S are

10,12,14 and 16 respectively. The two elements which

can react to form ionic compounds are:

A. P and S

B. Q and R

https://dl.doubtnut.com/l/_sKDpFPzp1tvu


C. P and R

D. Q and S

Answer: D

View Text Solution

3. Case 1: When an element composed of atoms that

readily lose electrons (a metal) reacts with an

element composed of atoms that readily gain

electrons (a nonmetal), a transfer of electrons

usually occurs, producing ions. The compound

formed by this transfer is stabilized by the

electrostatic attraction (ionic bonds) between the

https://dl.doubtnut.com/l/_sKDpFPzp1tvu
https://dl.doubtnut.com/l/_adu9JBW1SOR0


ions of opposite charge present in the compound.

For example, when each sodium atom in a sample of

sodium metal (group 1) gives up one electron to

form a sodium cation, Na+, and each chlorine atom

in a sample of chlorine gas (group 17) accepts one

electron to form a chloride anion,  the

resultingk compound, NaCl, is composed of sodium

ions and chloride ions in the ratio of one  ion

for each  ion. 


 


Similarly each calcium atom (group 2) can give up

Cl−

Na +

Cl−

https://dl.doubtnut.com/l/_adu9JBW1SOR0


two electrons and transfer one to each of two

chlorine atoms to form  which is composed of 

 and  ions in the ratio of one  ion

to to  ions. A compound that contains ions and

is held togethr by ionic bonds is called an ionic

compound. The periodic table can help us recognize

many of the compounds that are ionic. Ionic

compounds are solids that typically melt at high

temperature and boil at even higher temperatures.

The melting and boilign points of some common

compounds is given below. 

Melting and boiling points of common compounds 

CaCl2

Ca2 + Cl − Ca2 +

Cl−

https://dl.doubtnut.com/l/_adu9JBW1SOR0


 


Which of the following statement is true about ionic

compouds? 

I. Ionic compounds are crystalline solids 

II. Ionic compounds are soluble in solvents such as

kerosen and petrol. 

III. Ionic compounds conduct electricity when

dissolved in water.

IV. Ionic compounds conduct electricity in the molten

state.

A. Both I and II

https://dl.doubtnut.com/l/_adu9JBW1SOR0


B. Both I and III

C. I,II and IV

D. I,II and IV

Answer: C

View Text Solution

4. Case 1: When an element composed of atoms that

readily lose electrons (a metal) reacts with an

element composed of atoms that readily gain

electrons (a nonmetal), a transfer of electrons

usually occurs, producing ions. The compound

https://dl.doubtnut.com/l/_adu9JBW1SOR0
https://dl.doubtnut.com/l/_8CKQI2X1ZQww


formed by this transfer is stabilized by the

electrostatic attraction (ionic bonds) between the

ions of opposite charge present in the compound.

For example, when each sodium atom in a sample of

sodium metal (group 1) gives up one electron to

form a sodium cation, Na+, and each chlorine atom

in a sample of chlorine gas (group 17) accepts one

electron to form a chloride anion,  the

resultingk compound, NaCl, is composed of sodium

ions and chloride ions in the ratio of one  ion

for each  ion. 


Cl−

Na +

Cl−

https://dl.doubtnut.com/l/_8CKQI2X1ZQww


 


Similarly each calcium atom (group 2) can give up

two electrons and transfer one to each of two

chlorine atoms to form  which is composed of 

 and  ions in the ratio of one  ion

to to  ions. A compound that contains ions and

is held togethr by ionic bonds is called an ionic

compound. The periodic table can help us recognize

many of the compounds that are ionic. Ionic

compounds are solids that typically melt at high

CaCl2

Ca2 + Cl − Ca2 +

Cl−

https://dl.doubtnut.com/l/_8CKQI2X1ZQww


temperature and boil at even higher temperatures.

The melting and boilign points of some common

compounds is given below. 

Melting and boiling points of common compounds 

 


An element X having atomic number 13 atoms a

compound with elemnt Y having atomic number 9.

The cations and anions formed will be:

A.  and 

B.  and 

C.  and 

3[X + ] [Y 3 − ]

[X3 + ] 3[Y − ]

3[X + ] 3[Y − ]

https://dl.doubtnut.com/l/_8CKQI2X1ZQww


D.  and 

Answer: B

View Text Solution

[X3 − ] [Y 3 − ]

https://dl.doubtnut.com/l/_8CKQI2X1ZQww

